
¢y•yîû’ !˜öì”Å!Ÿ„þy

1Ð ö„þy!¦þvþéôé19 x!“þ›y!îûîû xyîöì£ !î”Äyœöìëû ßþºy¦þy!î„þ þ™àþ˜éôéþ™yàþ˜ îÄy£“þ £öìëûöìŠéÐ ö„þy!¦þvþ x!“þ›y!îûîû ›öì•Äç
!ŸÇþyíÅ#öì”îû þ™àþ˜éôéþ™yàþ˜ xîÄy£“þ îûy…yîû vþzöìjöìŸÄ£z ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñéôé~îû ¢)eþ™y“þÐ

2Ð ö„þy!¦þvþ x!“þ›y!îûîû ›öì•Ä !î”Äyœöìëû ßþºy¦þy!î„þ þ™àþ˜éôéþ™yàþ˜ îr• íy„þöìœç !ŸÇþyíÅ#öì”îû x!¦þ¦þyî„þöì”îû ›y•Äöì›
²Ì!“þ ›yöì¢ !›vþéôéövþ !›œ !î“þîû’ „þîûy £öìFŠééÐ !›vþéôéövþ !›öìœîû ¢öìA†£z x!¦þ¦þyî„þöì”îû £yöì“þ “%þöìœ ö”çëûy £öì‰Šé
›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œÐ þ™öìîûîû ›yöì¢ !›vþéôéövþ !›œ ¢‚@ùÌ£ „þîûyîû ¢›ëû x!¦þ¦þyî„þîûy !ŸÇþyíÅ#öì”îû „þîûy ›öìvþœ
xÄy!Q!¦þ!Ýþ Ýþyöìßþñîû vþz_îû†%!œ ›)œÄyëûöì̃ îû ‹˜Ä !ŸÇþ„þéôé!Ÿ!Çþ„þyöì”îû £yöì“þ “%þöìœ !”öì‰Šé˜Ð

3Ð ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œ ›)œÄyëûöì̃ îû ›y•Äöì› „þy›Ä !Ÿ…˜ ¢y›íÅÄ x‹Åöì̃ îû þ™öìí !ŸÇþyíÅ#îûy „þ# „þ# xhsþîûyöìëûîû
¢Á¿%…#˜ £öì‰Šé !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy “þy !‰þ!£«“þ „þîûöì“þ þ™yîûöìî˜ ç ëíyëí îÄîÞíy !˜öì“þ þ™yîûöìî˜Ð

4Ð ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œ öíöì„þ£z îyŠéy£z „þöìîû !î!¦þ§¬ ö×!’îû ‹˜Ä !˜!”ÅTþ›yöì̃ îû ²ÌÙÀþ™e ÷“þ!îû „þîûy £öìëûöìŠéÐ

5Ð !ŸÇþyíÅ#îûy ²ÌÙÀ†%!œîû vþz_îû !œ…öìîÐ

6Ð !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy !î”Äyœöìëû îöì¢£z vþz_îûþ™e†%!œîû ›)œÄyëû̃  „þîûöìî˜Ð

7Ð vþz_îûþ™e†%!œ ›)œÄyëûöì̃ îû ›y•Äöì› !ŸÇþyíÅ#îûy „þy›Ä !Ÿ…˜ ¢y›íÅÄ x‹Åöì̃  „þ“þÝþy ¢šþœ £öìœy “þy !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy
î%Gþöì“þ þ™yîûöìî˜Ð



îy‚œy S²Ìí›¦þy¡ìyV
˜î› ö×!’

þ™)’Å›y˜ éôé 50

1.  !àþ„þ vþz_îû!Ýþ öîöìŠé !˜öìëûû öœöì…y õ 1 × 5 = 5

1.1 {Ÿy˜ £öìœyéôôôé

„þV vþz_îûéôéþ™)îÅéôéöì„þy’

…V vþz_îûéôéþ™!Øþ› ö„þy’

†V ”!Çþ’éôéþ™)îÅ ö„þy’

‡V þ™!Øþ› ö„þy’

1.2 òxy‹ xy›yîû ¢‚¢yîû ‰þœöìî „þ#¦þyöìî Úó ôôôé ²ÌÙÀ!Ýþ „þöìîûöìŠé

„þV ¢)‰þ„þ

…V ‹y %̃„þ

…V •#îîû

‡V îûy‹ŸÄyœ„þ

1.3 òîr•%†’ £y¢öìî˜ ˜yÐó  éôôôé ~„þíy îöìœöìŠé

„þV £z!œëûy¢

…V Ÿy›éôéöŸ›y!†

†V ›£Á¿” Ÿy

‡V ›£Á¿” Ÿyîû ‹÷ì̃ „þ xyd#ëû

1.4 ò›yÞÝþyîû›Ÿy£zöìëûîû „þyŠé öíöì„þ ~£zÝ%þ„%þ£z xy›yîû ˜†” œy¦þÐó î=þyîû œy¦þ £öìëû!Šéœ

„þV þ™¤y‰þ Ýþy„þy

…V ”Ÿ Ýþy„þy

†V þ™öì̃ öìîûy Ýþy„þy

‡V „%þ!vþü Ýþy„þy

1.5 òö˜yˆîûó „þ!î“þy!Ýþ öë „þyîÄ@ùÌöìríîû xhsþ†Å“þ éôôôé

„þV „%þ¢%öì›îû ›y¢

…V Ÿy”y ö›‡ „þyöìœy þ™y£yvþü

†V þ™y“þyœ „þ˜Äy

‡V Šéyëûyîû xyœþ™˜y

2. „þ›éôéöî!Ÿ 15!Ýþ Ÿöì·îû ›öì•Ä vþz_îû öœöì…y õ 1 × 10 = 10

2.1 ò....... ²Ì‹y ‰þ›!„þ“þÐó éôôôé ²Ì‹y ‰þ›!„þ“þ ö„þ˜Ú

2.2 ò•#îîûéôéî,hsþyhsþó ˜yÝþÄy‚öìŸ •#îöìîûîû îy!vþü ö„þyíyëûÚ

2.3 ò£z!œëûy¢ ö“þy ¦þy†Äîy˜ þ™%îû%¡ìóéôôôé „þyîûy ~„þíy îœ“þÚ



2.4 ò›öì̃  ~œ ›yÞÝþyîû›Ÿy£zöìëûîû „þíyÐó éôôôé „þ…˜ ~›˜!Ýþ ‡öìÝþöìŠéÚ

2.5 ò....... !îîûy›£#˜ ~£z ”¤yvþü Ýþy˜yÐó éôôôé „þ!î ”¤yvþü Ýþy˜yöì„þ ò!îîûy›£#˜ó îöìœöìŠé˜ ö„þ˜Ú

2.6 ò!£!¨ vþzþ™!Þí“þ ö¢£z ö‰þTþyÝþy „þîûöìŠé˜ó éôôôé ö„þy ä̃ ö‰þTþyîû „þíy ²Ìyî!r•„þ îöìœöìŠé˜Ú

2.7 ò~îû£z ›yöìGþ îy‚œyîû ²Ìy’ó éôôôé „þ!î ö„þyíyëû îy‚œyîû ²Ìyöì’îû ¢r•y˜ öþ™öìëûöìŠé˜Ú

2.8 ò~…˜ xy›yîû ”,‘þü !îÙ»y¢ £öìëûöìŠéó éôôôé þ™eöìœ…öì„þîû ”,‘þü !îÙ»y¢!Ýþ „þ#Ú

2.9 òëy !†öìëû ç£z vþzàþyöì̃  ö“þyîû ”¤yvþüyó éôôôé ö¢…yöì̃  !†öìëû ”¤yvþüyöìœ ö„þy ä̃ ”,ŸÄ ö”…y ëyöìîÚ

2.10 òö“þy›yîû îy!vþü ö„þyíyëûÚó éôôôé îûy•yîûy’# ~£z ²ÌöìÙÀîû vþz_öìîû „þ# îöìœ!ŠéœÚ

3. ²Ì¢A† !˜öì”ÅŸ¢£ „þ›éôéöî!Ÿ 60!Ýþ Ÿöì·îû ›öì•Ä vþz_îû öœöì…y õ 3 × 5 = 15

3.1 òxy›yîû îy!’‹Äéôé“þîû# î¤y•y þ™öìvþü xyöìŠéóÐ éôôôé ö„þy ä̃ îy!’‹Äéôé“þîû#Ú ö¢!Ýþ î¤y•y þ™öìvþü xyöìŠé ö„þ˜Ú 1 + 2

3.2 ò¢‚ßþ,ñ“þ ¦þy¡ìy xyd!˜¦ÅþîûŸ#œÐó éôôôé ²Ìyî!r•„þ ö„þ˜ ~›˜ ›hsþîÄ „þöìîûöìŠé˜Ú

3.3 òxy!› ~£z ‡yöì¢ îöì¢ íy!„þó

éôôôé ö„þy ä̃ ¢›öìëû „þ!î ‡yöì¢ îöì¢ íyöì„þ˜Ú “þ…˜ ²Ì„,þ!“þîû ö„þ›˜ îû)þ™ “¤þyîû ö‰þyöì… •îûy þ™öìvþüÚ 1 + 2

3.4 ò˜öìÝþ†yŠéÝþy î%!vþüöìëû çöìàþ– !„þhs$þ ›%vþüëû ˜yÐó

éôôôé vþzå•,“þy‚öìŸ ˜öìÝþ†yöìŠéîû ²Ì¢A† vþzayþ™öì̃  òxyî£›y˜ó „þ!î“þyëû òîû)þ™„þíyóîû xyöìîŸ „þ#¦þyöìî îû!‰þ“þ £öìëûöìŠé– !îöìÙÕ¡ì’
„þöìîûyÐ

3.5 ò. . . xyîû xy£yöìîûîû ¢‚Þíy˜ îû!£œ ˜yÐó

éôôôé îûy•yîûy’# ç “þyîû ›yöìëûîû ”%†Å!“þîû !‰þe òîûy•yîûy’#ó þ™yàþÄy‚öìŸ „þ#¦þyöìî !‰þ!e“þ £öìëûöìŠé– “þy vþzå•,“þy‚öìŸîû xyöìœyöì„þ
xyöìœy‰þ˜y „þöìîûyÐ

4. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû !˜öì‹îû ¦þy¡ìyëû öœöì…y S„þ›éôéöî!Ÿ 150 Ÿ·V õ 5 × 2 = 10

4.1 ò!˜îûî!• ¢y“þ!”˜ î,!Tþ !˜îûhsþîûÐó éôôôé ~£z ²Ìy„,þ!“þ„þ !îþ™ëÅëû „þ!œA†îy¢#îû ‹#î˜öì„þ „þ#¦þyöìî !îþ™§¬ „þöìîû “%þöìœ!Šéœ “þy
xyöìœy‰þ˜y „þöìîûyÐ

4.2 ò!‰þ!àþó x %̃¢îûöì’ ßþºy›# !îöìî„þy˜öì̈ îû !îöì”Ÿ# ¦þ=þ ç x %̃†y›#öì”îû þ™!îû‰þëû ”yçÐ

5. ˜#öì‰þîû ²ÌÙÀ!Ýþîû vþz_îû !˜öì‹îû ¦þy¡ìyëû öœöì…y S„þ›éôéöî!Ÿ 150 Ÿ·V õ

ò„þ¦Åþy¢ öë ~…˜ ¢y•yîû’ „þyöì„þîû öíöì„þ !˜öì‹öì„þ xyœy”y îûy…öì“þ ‰þyëû– “þyîû ßþ™Tþ ²Ì›y’ xy‹öì„þ öþ™œy›Ðó éôôôé ö²Ìyöìšþ¢îû
ŸA„%þ „þ#¦þyöìî ö¢£z ²Ì›y’ öþ™öìëûöìŠé˜Ú

6. !˜öì”ÅŸ x %̃ëyëû# vþz_îû ”yç õ 1 × 5 = 5

6.1 •ycîëûî ²Ì“þÄöìëûîû ~„þ!Ýþ vþz”y£îû’ ”yçÐ

6.2 ö›ï!œ„þ Ÿ· îœöì“þ „þ# öîyGþÚ

6.3 ˜î†!àþ“þ Ÿ·öì„þ „þëû!Ýþ ö×!’öì“þ ¦þy† „þîûy ëyëû ~î‚ „þ# „þ#Ú

6.4 “þy!›œ Ÿ·¦þy[þyîû öíöì„þ îy‚œyëû ~öì¢öìŠé ~›˜ ”%!Ýþ Ÿ· öœöì…yÐ

6.5 „þyöìŠéîû îÄ!=þ îy îhß$þöì„þ !˜öì”ÅŸ „þîûöì“þ ö„þy ä̃ ¢îÅ̃ y› þ™” îÄî£,“þ £ëûÚ

7. ¦þyî¢Á±¢yîû’ „þöìîûy õ 5

ò•öì›Åîû ˜yöì› ö›y£ ~öì¢ ëyöìîû •öìîû

xr• ö¢ ‹˜ ›yöìîû xyîû Ÿ%•% ›öìîûÐó



îy‚œy S!m“þ#ëû¦þy¡ìyV
˜î› ö×!’

þ™)’Å›y˜ éôé 50

1.  ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 3 × 10 = 30

1.1 ò~ !„þ îû#!“þ “þîÚó

éôôôé î=þy ö„þÚ !“þ!˜ ö„þy ä̃ îû#!“þîû „þíy îöìœöìŠé˜Ú

1.2 òîyˆy!œöì„þ ö”öì…ŠéÚó

éôôôé ²ÌÙÀ!Ýþ ö„þ „þöìîûöìŠé˜Ú vþz!jTþ îÄ!=þ vþz_öìîû „þ# ‹y!˜öìëûöìŠéÚ

1.3 òö¢ îûy!eöì“þ ësþf’yîû þ™!îû¢#›y !Šéœ ˜yÐó

éôôôé òîyA†yœyîû £z!“þ£y¢ó †”Äy‚Ÿ x %̃¢îûöì’ ö¢£z îûyöì“þîû !îîîû’ ”yçÐ

1.4 ò!›Ýþy£zî ”%!¦ÅþöìÇþîû Ç%þ•yÐó

éôôôé ¢‚„þÒ!Ýþ „þyîûÚ „þ#¦þyöìî !“þ!˜ “þy îyhßþîy!ëû“þ „þîûöìî˜Ú

1.5 òö¢£z ›%£)öì“Åþ£z ö¢ ‹˜˜#îû þ™” x!•„þyîû „þ!îûëûy î!¢œó

éôôôé vþzå•,“þy‚öìŸîû xyöìœyöì„þ öþ™yÞÝþ›yÞÝþyîû ~î‚ îû“þöì̃ îû ¢Á™„Åþ †öìÒ „þ#¦þyöìî !‰þ!e“þ £öìëûöìŠé “þyîû þ™!îû‰þëû ”yçÐ

1.6 ò¢„þœ ö”öìŸîû îûy!˜ ö¢ öë xy›yîû ‹§Ã¦)þ!›Ðó éôôôé ò•˜•y˜Äþ™%Ü™¦þîûyó „þ!î“þyëû ò¢„þœ ö”öìŸîû îûy!˜óîû öë îû*þ™ ö””#þ™Ä›y˜
£öìëû vþzöìàþöìŠé– “þyîû þ™!îû‰þëû ”yçÐ

1.7 ò„þ# „þöìîû þ™vþüöì“þ £ëûÚó
éôôôé òx•Äëû̃  ç Kþy˜œy¦þó ²Ìîöìr• ²Ìyî!r•„þ „þ#¦þyöìî ~£z ²ÌöìÙÀîû vþz_îû …%¤öì‹öìŠé˜Ú

1.8 ò¢›@ùÌ •îûyîû ßþ™ŸÅ þ™y£z ~„þ àþ¤y£zÐó
éôôôé òvþy„þ!Ýþ!„þÝþó „þ!î“þyëû „þ!î ö„þyíyëû ~î‚ „þ#¦þyöìî ¢›@ùÌ •îûyîû ßþ™ŸÅ öþ™öìœ˜Ú

1.9 òx•Äëû̃  ç Kþy˜œy¦þó îû‰þ˜y x %̃¢îûöì’ òþ™yàþy†yîûó ¢Á™öì„Åþ öœ…öì„þîû x!¦þ›“þ îÄ=þ „þöìîûyÐ

1.10 òvþy„þ!Ýþ!„þÝþó „þ!î“þyëû vþy„þ!Ýþ!„þöìÝþîû !îþ™%œ úÙ»ëÅ ç ÷î!‰þeÄ „þ#¦þyöìî ²Ì!“þ¦þy!¢“þ £öìëû vþzöìàþöìŠé “þy xyöìœy‰þ˜y „þöìîûyÐ

2. !˜Á¬!œ!…“þ îÄy„þîû’†“þ ²ÌÙÀ†%!œîû vþz_îû ”yç õ
2.1 !àþ„þ vþz_îû!Ýþ öîöìŠé !˜öìëû öœöì…y õ 1 × 3 = 3

2.1.1 ò!î²Ì„þ¡ìÅó öë •¹!˜ þ™!îûî“Åþ˜éôéîû#!“þîû ¢›yíÅ„þ éôôôé

S„þV •¹!˜îû Þíy˜yhsþîû S…V  xy!”ßþºîûy†›

S†V ›•Äßþºîûy†› S‡V  ›•Äßþºîû öœyþ™

2.1.2 ›y˜Ä ‰þ!œ“þ îy‚œyëû £zä– vþzä– ~ä– çä éôé ~£z ‰þyîû!Ýþ •¹!˜öì„þ îœy £ëû

S„þV xþ™ßþºîû S…V  x•Åßþºîû

S†V £Éßþºßþºîû S‡V  ²Õ%“þßþºîû

2.1.3 ~„þ!Ýþ “%þœ˜yîy‰þ„þ “þ!å•“þ ²Ì“þÄöìëûîû vþz”y£îû’ £öìœy

S„þV ›ëû S…V  £zœ

S†V £z“þ S‡V  “þ›

2.2 ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 1 × 12 = 12
2.2.1 x %̃¢†Å „þ“þ ²Ì„þyîû ç „þ# „þ#Ú

2.2.2 ¢‚öìëy†›)œ„þ •y“%þîû ~„þ!Ýþ vþz”y£îû’ ”yçÐ



2.2.3 îy‚œy ¦þy¡ìyëû •¹!˜ þ™!îûî“Åþöì̃ îû ¢)e†%!œ ²Ì•y˜“þ „þëû!Ýþ •yîûyëû !î¦þ=þÚ

2.2.4 îy‚œyëû ”hsþÄ›)œ#ëû îÄO˜•¹!˜ ö„þy ä̃†%!œÚ

2.2.5 òxöì‡y¡ì îÄO˜•¹!˜ó îœöì“þ „þ# öîyGþÚ

2.2.6 ö›ï!œ„þ Ÿ· îœöì“þ „þ# öîyGþÚ

2.2.7 ˜î†!àþ“þ Ÿ·öì„þ „þëû!Ýþ ö×!’öì“þ ¦þy† „þîûy ëyëû ~î‚ „þ# „þ#Ú

2.2.8 “þqî Ÿöì·îû ”%!Ýþ vþz”y£îû’ ”yçÐ

2.2.9 òö”!Ÿ Ÿ·ó ö„þ òxKþy“þ›)œ Ÿ·ó îœy £ëû ö„þ˜Ú

2.2.10 “þy!›œ Ÿ·¦þy[þyîû öíöì„þ îy‚œyëû ~öì¢öìŠé ~›˜ ”%!Ýþ Ÿ· öœöì…yÐ

2.2.11 ~„þ!Ýþ “þê¢› xîÄëû ~î‚ ~„þ!Ýþ …¤y!Ýþ îy‚œy xîÄöìëûîû vþz”y£îû’ ”yçÐ

2.2.12 •y“%þîû †àþ˜ x %̃ëyëû# !„Êþëûyþ™” „þ“þ •îûöì̃ îû £öìëû íyöì„þÚ

3. ¦þyî¢Á±¢yîû’ „þöìîûy õ 5

!îîûy› „þyöì‹îû xA† ~„þ¢yöìí †¤yíy

˜ëûöì̃ îû x‚Ÿ öë˜ ˜ëûöì̃ îû þ™y“þyÐ



ENGLISH FIRST LANGUAGE
Class IX

Full Marks - 50

1. Answer the following question in about 15 words: 1×2=2

(i) What was the intention of the Captain after his spaceship landed on earth ?

(ii) “But I know Jimmy will meet me here”

Why was the speaker so confident about Jimmy ?

2. Answer the following question in about 150 words: 7×1=7

“The sun is set; the swallows are asleep”

Describe the natural scenery of Pisa as expressed in the poem Evening: Ponte Al Mare, Pisa.

3. Answer the following question in about 150 words: 7×2=14

(a) “A man with a big farm like mine needs a son,” he said.

What did the boy do? Why did the man say so ?

(b) “I ruined it.”

What is 'it' referred to here ? How did the narrator of the story ruin it ?

4.  Answer the following question in about 150 words: 5×1=5

 “And now, my good woman, just let me and this gentleman have a good look about us.”

Who is the speaker ? What did he see in the rooms occupied by Mr. Hyde ?

5. Do as directed: 1×5=5

(a) It is hoped that a good salesman should have the gift of the gab. (Identify the idiomatic expression in
the sentence and write its meaning)

(b) As it was raining heavily, we could not move out. (Analyse the complex sentence)

(c) You should obey your parents. (Rewrite the sentence using the adjective form of 'obey')

(d) Make haste. You will be late. (Use Alternative Conjunction)

(e) Anamika is not well. She cannot come to school. (Use Illative Conjunction)

6. Identify the figures of speech in the following sentences: 1×4=4

(a) My life is like an open book.

(b) Variety is the spice of life.

(c) Three grey geese were grazing in a field.

(d) Her tears were a river flowing down her cheeks.

7. Report the following conversation (in about 50 words):         3

Nora: Poor Christine, you are a widow.

Mrs. Linde: Yes; it is three years ago now.

Nora: Yes, I knew; I saw in the papers. I assure you, Christine, I meant ever so often to write to you at the
time, but I always put it off and something always prevented me.



Mrs. Linde: I quite understand, dear.

Nora: It was very bad of me, Christine. Poor thing, how you must have suffered. And he left you nothing ?

Mrs. Linde: No.

(Extracted from A Doll's House, by Henrik Ibsen)

8. Write an essay in about 250 words on the following topic: 10

• The use of internet service in modern India



ENGLISH SECOND LANGUAGE
Class IX

Full Marks - 50

A. Read the passage carefully and answer the following questions:

It had been raining for seven years. Thousands upon thousands of days filled from one end to the other
with rain. The days were filled with the gush of water and endless showers. Heavy storms caused tidal
waves to come over the islands. A thousand forests crushed under the rain, had grown up a thousand
times to be crushed again. This was the way of life forever on planet Venus. Here was located the school-
room of the children belonging to men and women who came by rockets from Earth. They set up a
civilization in this raining world.

Activity 1

Answer the following questions: 2×3 = 6

i) How long it had been raining in Venus?

ii) What was the way of life in Venus?

iii) Who set up a civilization in the “raining world”?

Activity 2

Complete the sentences with information from the text: 1×4 = 4

a) The days were filled with _________________________________________________

b) A thousand forests crushed under ___________________________________________

c) This was the way of _____________________________________________________

d) They set up a __________________________________________________________

B. Read the passage carefully and answer the following questions:

The Asian Games of 2022 in Hangzhou will see the return of the game of Chess after the Olympic Council
of Asia decided to reinstate the sport in its games programme. Chess was a part of Asian Games 2006 in
Doha and 2010 in Guangzhou. India won two gold medals at Doha, with Koneru Humpy winning the gold
medal in women’s rapid individual event as well as the mixed team winning the standard event gold. In
2010, the Indian men won a bronze in the standard team event while D. Harika took the bronze in the
women’s individual event.

Viswanathan Anand, five time world champion and India’s first Grandmaster, expressed his happiness
over the inclusion of Chess in 2022 Asian games. The All India Chess Federation vice-president D.V.
Sundar said it was very good news for the game and the players too and gave India chance to win medals.
He also expected a team event and individual events to be part of the games.

Activity 3

Choose the correct alternative to complete the following sentences: 1×4 = 4

i) The Asian Games of 2022 will be held in ____________

a) Doha

b) Chennai

c) Guangzhou

d) Hangzhou



ii) In the standard team event in 2010, the Indian won ____________

a) bronze

b) gold

c) no medals

d) silver

iii) D. Harika won _________________

a) gold medal

b) silver medal

c) no medal

d) bronze medal

iv) The vice-president of the All Indian Chess Federation is ____________

a) D.V. Sundar

b) Koneru Humpy

c) D. Harika

d) Viswanathan Anand

Activity 4

State whether the following sentences are True or False. Provide supporting statement for your
answers: (1+1)×3=6

a) Chess has always been a part of the Asian Games.

Supporting statement:

b) The Asian Games of 2006 was held in Doha.

Supporting statement:

c) Viswanathan Anand was not happy at the inclusion of Chess in the Asian Games.

Supporting statement:

Activity 5

Do as directed: 1×6 = 6

i) I wish you to be quiet. (Change into a complex sentence)

ii) Opening the gate, the man came in. (Change into a compound sentence)

iii) I know who said it. (Change into a simple sentence)

iv) Returning home, he went to sleep. (Change into a compound sentence)

v) He was very sorry and left the place. (Change into a simple sentence)

vi) Work hard or you may fail. (Change into a complex sentence)



Activity 6

Fill in the blanks with appropriate Prepositions: 1×4 = 4

a) He is going _______ to school.

b) The shopkeeper deals ______ sugar.

c) ________ having a pen, he has a pencil.

d) She is free ______ fear.

Activity 7

Write a paragraph within 100 words on the Importance of  Tree Plantation. 10

Use the following points:

[introduction – brings rain – prevents soil erosion – decreases air pollution – adds to beauty of nature –
conclusion]

 Activity 8

Your father has to shift to a different district due to his job requirements. Write a letter to the
Headmistress / Headmaster of your school seeking a Transfer Certificate. 10



†!’“þ
˜î› ö×!’

þ™)’Å›y˜ éôé 50

˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû öœöì…y õ

1. î£%›%…# vþz_îû•›Å# ²ÌÙÀ SMCQsV õ 1 × 8 = 8

SiV ~„þ‹˜ ¢î!‹ !îöì„Êþ“þy 20 Ýþy„þyëû 10 !Ýþ öœî% !„þöì̃  20 Ýþy„þyëû 8!Ýþ öœî% !î!„Êþ „þöìîû̃ – “þyîû Ÿ“þ„þîûy œy¦þ £ëû

SaV 25 SbV 20

ScV 10 SdV 24

SiiV P Q R S ÝþÆy!þ™!‹ëûyöì›îû ”%!Ýþ !“þëÅ„þ îy£% PS ç QRéôé~îû ›•Ä!î %̈ ëíy„Êþöì› X ç Y– “þöìî XY =

SaV 2
1

 PQ SbV 2
1

 RS

ScV 2
1

 (PQ+RS) SdV 2
1

 (PQ–RS)

SiiiV 105 – 140 ˆ◊!í!›˛Ó˚ ˛ô!Ó˚¢ÇÖƒy 14 £ˆÏúñ ˆ◊!í!›˛Ó˚ ˛ô!Ó˚¢ÇÖƒy áòc £ˆÏÓ

SaV 2.5 SbV 0.4

ScV 0.35 SdV 0.14

SivV 3 !›Ýþyîû œÁºy ç 2 !›Ýþyîû ‰þçvþüy ~„þ!Ýþ xyëû“þy„þyîû ‹yëû†y 5 övþ!¢!›. î†Å Ýþy!œ !”öìëû î¤y•yöì“þ £öìœ Ýþy!œ œy†öìî

SaV 48 !›˛ SbV 96 !›˛

ScV 24 !›˛ SdV 72 !›˛

(v) Ÿ“þ„þîûy œy¦þ 10 £öìœ– e«ëû›)œÄ ç !îe«ëû›)öìœÄîû x %̃þ™y“þ £öìî

SaV 1 : 10 SbV 10 : 1

ScV 10 : 11 SdV 11 : 10Ð

(vi)    ABCôé~îû AB îy£%îû ›•Ä!î %̈ D !”öìëû BCéôé~îû ¢›yhsþîûyœ DE Ýþy˜y £öìœy ëy AC îy£%öì„þ E !î %̈öì“þ öŠé” „þîûöìœy–

“þy£öìœ

SaV AE =      AC SbV AE =      AC

ScV AE =      AC SdV AE =      ACÐ

(vii) ˆÎ xï≈Ó,_yÑ˛yÓ˚ â˛yÑ˛!ì˛Ó˚ Óƒy¢yˆÏï≈Ó˚ ˜îá≈ƒ 10.5 ˆ¢!õ. ì˛yÓ˚ ˛ô!Ó˚¢#õy £ˆÏúy

SaV 2π × 10.5 ˆ¢!õ. SbV (π + 2) × 10.5 ˆ¢!õ.

ScV 2(π + 1) × 10.5 ˆ¢!õ. SdV (π + 1) × 10.5 ˆ¢!õ.–

(viii) öë î†Åy„þyîû !‰þöìe „þöì’Åîû ÷”‡ÅÄ 13√2 ö¢!›.– “þyîû ~„þ!Ýþ îy£%îû ÷”‡ÅÄ £öìî

SaV             ö¢!›. SbV 26 ö¢!›.

ScV √338 ö¢!›. SdV 13 ö¢!›.Ð

1
3

1
2

1
4

2
3

13√2
2



2. ¢“þÄ/!›íÄy (T/F) öœöì…y õ 1 × 8 = 8

SiV ABC ¢õ Ï̂Ñ˛yí# !e¶%̨ Ï̂ãÓ˚ ∠BAC = 90º ~ÓÇ BCÈÙÈ~Ó˚ õïƒ!Ó®% D £ Ï̂úñ AD = 2
1

BC–

SiiV ~Ñ˛!›˛ ˛ô!Ó˚¢ÇÖƒy !Ó¶˛yãò ì˛y!úÑ˛yÎ˚ ~Ñ˛!›˛ ˆ◊!íÓ˚ õïƒ!Ó®% 10 ~ÓÇ ≤Ã!ì˛!›˛ ˆ◊!íÓ˚ ˆ◊!íÈÙÈ˜îá≈ƒ 6 £ˆÏúñ ˆ◊!í!›˛Ó˚

!ò¡¨¢#õy £ˆÏÓ 8–

SiiiV ~Ñ˛!›˛ ¢yõyhs˛!Ó̊Ñ˛ xyÑ˛y Ï̂Ó̊Ó̊ ˆ«˛eñ ~Ñ˛!›˛ xyÎ̊ì˛ Ï̂«˛e ~ÓÇ ~Ñ˛!›˛ !e¶%̨ ãyÑ˛yÓ̊ ˆ«˛e ~Ñ˛£z ¶)̨ !õ Á ~Ñ˛£z ¢õyhs˛Ó̊yú

¢Ó̊ú Ï̂Ó̊Öy Î%Ü Ï̂úÓ̊ õ Ï̂ïƒ xÓ!fiÌì˛ ~ÓÇ ì˛y Ï̂îÓ̊ ˆ«˛eö˛ú ÎÌyÑ ̨ Ï̂õ Pñ R Á T £ Ï̂ú P = R = 2
T

  £ Ï̂Ó–

SivV ~„þ!Ýþ ¢›îy£% !e¦%þöì‹îû öÇþešþœ ç vþzF‰þ“þyîû ¢y‚…Ä›y˜ ¢›y˜ £öìœ– !e¦%þ‹!Ýþîû îy£%îû ÷”‡ÅÄ £öìî 1 ~„þ„þÐ

(v) ïyÎ≈õ)ˆÏúƒÓ˚ v˛z˛ôÓ˚ äÈyv˛¸ !ò¶≈˛Ó˚ Ñ˛ˆÏÓ˚–

(vi) ˛ô!Ó˚¢ÇÖƒy Ó£%¶%̨ ã xAÑ˛ˆÏòÓ˚ ãòƒ ≤ÃÌõ ˆ◊!íÓ˚ !‡˛Ñ˛ xyˆÏÜÓ˚ ~Ñ˛!›˛ ˆ◊!íÓ˚ ˛ô!Ó˚¢ÇÖƒy £ˆÏÓ ‘0’

(vii)              !â˛ Ï̂eñ ABCD ÓÜ≈̂ Ï«˛ Ï̂eÓ̊ ˆ«˛eö˛ú ABEF Ó̊¢¡∫ xyÑ˛yÓ̊ ˆ«˛ Ï̂eÓ̊ ˆ«˛eö˛ Ï̂úÓ̊ ¢õyò–

(viii) ²Ì!“þ!Ýþ î,öì_îû þ™!îû!• ç îÄyöì¢îû ÷”öì‡ÅÄîû x %̃þ™y“þ ~„þ!Ýþ !˜!”ÅT  ¢‚…ÄyÐ

3. ¢‚!Çþ® vþz_îû•›Å# ²ÌÙÀ SS.A.V õ 2 × 7 = 14

SiV g(x) = 2x – 16 î£%þ™”# ¢‚…Äy›yœy!Ýþîû ¢›#„þîû’!Ýþ öœöì…y ~î‚ î£%þ™”# ¢‚…Äy›yœy!Ýþîû Ÿ)̃ Ä !˜’Åëû „þöìîûyÐ

SiiV (8x3 + 8x – 5) î£%þ™”# ¢‚…Äy›yœy!Ýþîû ~„þ!Ýþ vþzêþ™y”„þ !˜’Åëû „þöìîûyÐ

SiiiV (–2, –2) ~î‚ (4, 6) !î %̈ ”%!Ýþîû ›öì•Ä ”)îûc !˜’Åëû „þöìîûyÐ

SivV ~„þ!Ýþ ‡!vþü þ™îûþ™îû 10% ç 5% Šéyöìvþü !î„Êþëû „þîûy £öìœ ¢›“%þœÄ Šéyvþü „þ“þ £öìîÚ

SvV ~„þ!Ýþ î,öì_îû îÄyöì¢îû ÷”‡ÅÄ ~î‚ ~„þ!Ýþ î†ÅöìÇþöìeîû îy£%îû ÷”‡ÅÄ ¢›y˜ £öìœ– “þyöì”îû þ™!îû¢#›yîû x %̃þ™y“þ „þ“þ £öìîÚ

(vi) 10!›˛ ˆ˛ôˆÏòÓ˚ e´Î˚õ)úƒ 4!›˛ ˆ˛ôˆÏòÓ˚ !Óe´Î˚õ)̂ ÏúƒÓ˚ ¢õyò £ˆÏúñ üì˛Ñ˛Ó˚y úy¶˛ !òí≈Î˚ Ñ˛ˆÏÓ˚y–

(vii) !â˛ˆÏeñ ABC !e¶%˛ãyÑ˛yÓ˚ ˆ«˛ˆÏeÓ˚ ˆ«˛eö˛ú 96 ÓÜ≈!õ. ~ÓÇ ¶)˛!õ BC = 20 !õ. £ˆÏúñ

!e¶%˛ã!›˛Ó˚ v˛zFâ˛ì˛y h !õ. !òí≈Î˚ Ñ˛ˆÏÓ˚y–

4. (i) ë%!=þ !”öìëû ²Ì›y’ „þöìîûy– öëéôéö„þyöì̃ y ‰þ“%þ¦Å%þöì‹îû ~„þöì‹yvþüy !îþ™îû#“þîy£% ¢›y˜ ç ¢›yhsþîûyœ £öìœ– ‰þ“%þ¦Å%þ‹!Ýþ ¢y›yhsþ!îû„þ
£öìîÐ 5

(ii) ë%!=þ !”öìëû ²Ì›y’ „þöìîûy öë– ö„þyöì̃ y !e¦%þöì‹îû ”%!Ýþ îy£%îû ›•Ä!î %̈möìëûîû ¢‚öìëy‹„þ ¢îûœöìîû…y‚Ÿ “,þ“þ#ëû îy£%îû ¢›yhsþîûyœ

ç xöì•Å„þÐ 5

(iii) ¢›!mîy£% !e¦%þ‹ xA„þ˜ „þöìîûy ëyîû ¢›y˜ îy£% ”%!Ýþîû ²Ìöì“þÄ„þ!Ýþîû ÷”‡ÅÄ 8 ˆ¢!õ. ~ÓÇ ¢õyò Óy£% î%!›˛Ó˚ xhs˛¶%≈˛_´ ˆÑ˛yí

30°ó Á£z !e¶%̨ ã!›˛Ó̊ ¢õyò ˆ«˛eö˛ú!Ó!üT ~Ñ˛!›˛ xyÎ̊ì˛ Ï̂«˛e xA„þ˜ Ñ˛ Ï̂Ó̊y SˆÑ˛Óúõye xA„þ˜ !â˛£´ !î Ï̂ì˛ £ Ï̂ÓV– 5

(iv) ò# Ï̂â˛Ó˚ ˛ô!Ó˚¢ÇÖƒy !Ó¶˛yãò äÈÑ˛!›˛Ó˚ ˛ô!Ó˚¢ÇÖƒy Ó£%¶%̨ ã xA„þ˜ Ñ˛ˆÏÓ˚y– 5

ˆ◊!í 0-5 5-10 10-15 15-20 20-25 25-30
˛ô!Ó˚¢ÇÖƒy 4 10 24 12 20 8

h m.
A

B C
D20 m.

A B

D C
F E
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1. !àþ„þ vþz_îû !˜îÅy‰þ˜ „þöìîûy õ 1×8=8

1.1 ˜#öì‰þîû öë!Ýþ þ™!îû›yþ™öìëy†Ä ö¦þï“þîûy!Ÿ ˜ëû ö¢!Ýþ £öìœy éôôôé

S„þV ~„þ!Ýþ ˜Äyþ™íy!œ˜ îöìœîû ¦þîû S…V ~„þ!Ýþ ˜Äyþ™íy!œ˜ îöìœîû ¦þîûöìî†

S†V ~„þ!Ýþ ˜Äyþ™íy!œ˜ îöìœîû †r• S‡V ~„þ!Ýþ ˜Äyþ™íy!œ˜ îöìœîû þ™,Ûþ“þöìœîû öÇþešþœÐ

1.2 xy£zöì¢yîyîûöì”îû öÇþöìe ˜#öì‰þîû öë „þíy!Ýþ !àþ„þ “þy £öìœy ~öì”îû éôôôé

S„þV ¦þîû ¢›y˜ S…V ö²ÌyÝþ˜¢‚…Äy ¢›y˜

S†V !˜vþzÝþÆ̃ ¢‚…Äy ¢›y˜ S‡V ¦þîû¢‚…Äy ¢›y˜Ð

1.3 ¦þîûöìîöì†îû ›ye#ëû ¢‚öì„þ“þ £öìœy éôôôé

S„þV MLT S…V MLT2

S†V ML2T S‡V MLT–1Ð

1.4 ‹öìœîû öë •öì›Åîû ‹˜Ä ~„þ!Ýþ öŠéyÝþ öþ™y„þy ‹öìœîû vþzþ™!îû“þöìœ ö£¤öìÝþ öîvþüyöì“þ þ™yöìîû “þy £öìœy éôôôé

S„þV ‹öìœîû ‡˜c S…V ‹öìœîû ¢yw“þy

S†V ‹öìœîû “þyþ™ þ™!îûîy!£“þy S‡V ‹öìœîû þ™,ÛþÝþy˜Ð

1.5 Ÿ!=þîû ›ye#ëû ¢‚öì„þ“þ £öìœy éôôôé

S„þV ML2T2 S…V ML–2T2

S†V ML2T–2 S‡V ML–2T–2Ð

1.6 ö„þyöì̃ y !ßþ±‚öìëûîû îœ •Ê%îöì„þîû ~„þ„þ £öìœy éôôôé

S„þV Nm S…V Nm2

S†V N/m2 S‡V N/mÐ

1.7 †y‘þü ç vþz_® ˜y£z!ÝþÆ„þ xÄy!¢vþ ç “þy›yîû !î!„Êþëûyîû ˜y£zöìÝþÆyöì‹öì̃ îû öë x:y£zvþ vþzêþ™§¬ £ëû “þy £öìœy éôôôé

S„þV N2O5 S…V N2O

S†V NO2 S‡V NOÐ

1.8 ~„þ!Ýþ îœöì„þ …yvþüy¦þyöìî vþzþ™öìîûîû !”öì„þ öŠé¤yvþüy £öìœyÐ ëyeyþ™öìíîû ¢öìîÅyF‰þ !î %̈öì“þ îœ!Ýþîû éôôôé

S„þV †!“þŸ!=þ ¢îÅy!•„þ S…V !Þí!“þŸ!=þ ¢îÅy!•„þ

S†V †!“þŸ!=þ ç !Þí!“þŸ!=þîû ›y˜ ¢›y˜ S‡V †!“þŸ!=þ xöìþ™Çþy !Þí!“þŸ!=þîû ›y˜ „þ›Ð

2. Ÿ)˜ÄÞíy˜ þ™)îû’ „þöìîûy õ 1×3=3

2.1 !îhß+þ“þ ”Ÿy „þ!àþ˜ ç !îhßþyîû ›y•Ä› “þîûœ ~›˜ ~„þ!Ýþ ö„þyœëûvþ#ëû !›×öì’îû vþz”y£îû’ £öìœy éôôôééôôôééôôôééôôôééôôôéÐ

2.2 ‹öìœ ¢yîy˜ !”öìëû ²Ìy® oîöì’îû þ™,ÛþÝþy˜ !îŸ%å• ‹öìœîû ö‰þöìëû ôôôééôôôééôôôééôôôééôôôé £ëûÐ

2.3 SI þ™å•!“þöì“þ Çþ›“þyîû ~„þ„þ £öìœyôôôééôôôééôôôééôôôééôôôéÐ

3 . ˜#öì‰þîû îy„þÄ†%!œ ¢“þÄ xíîy !›íÄy “þy !˜îû)þ™’ „þöìîûy õ 1×6=6

3.1 xyöìþ™!Çþ„þ ‡˜c ~„þ!Ýþ ~„þ„þ£#˜ îûy!ŸÐ

3.2 ~„þ!Ýþ îhß$þ R cm îÄy¢yöì•Åîû î,_y„þyîû þ™öìíîû xöì•Å„þ x!“þ„Êþ› „þîûöìœ “þyîû ¢îû’ £öìî R cmÐ



3.3 12C ößþñöìœ ö„Ïþy!îûöì̃ îû þ™yîû›y’!î„þ †%îû%c 35.453 £öìœ ~„þ!Ýþ ö„Ïþy!îû̃  þ™îû›y’%îû ¦þîû 35.453 uÐ

3.4 îÄyöìîûy!›Ýþyöìîûîû þ™yàþ o%“þ „þ›öì“þ íy„þöìœ öîyGþy ëyëû öë !˜Á¬‰þyöìþ™îû ¢,!Tþ £öìëûöìŠéÐ

3.5 öë oîöì’ !›íy£zœ xöìîûöìOîû îû̂  £œ%” “þyîû pH > 7Ð

3.6 „þyëÅ ~„þ!Ýþ ö¦þQîû îûy!ŸÐ

4 . ~„þ!Ýþ Ÿöì· xíîy ~„þ!Ýþ îyöì„þÄ vþz_îû ”yç õ 1×3=3

4.1 SI ~„þöì„þ ~„þ ö›yœ þ™!îû›y’ „þyîÅ̃  vþy£zx:y£zöìvþîû ¦þîû „þ“þÚ

4.2 îûyîyîû ç £zßþ™yöì“þîû ›öì•Ä ö„þy˜!Ýþîû £zëû‚ †%’yöìA„þîû ›y˜ öî!Ÿ £öìîÚ

4.3 ~„þ!Ýþ xÄy!¢vþ œîöì’îû ¢‚öì„þ“þ öœöì…yÐ

5 . ¢‚!Çþ® vþz_îû ”yç õ 2×9=18

5.1 STPéôéö“þ £y£zöìvÈþyöì‹˜ †Äyöì¢îû ‡˜c 0.0898 g/L £öìœ SI ~„þöì„þ ~£z ‡˜öìcîû ›y˜ !˜’Åëû „þöìîûyÐ

5.2 ~„þ!Ýþ ö›ïöìœîû þ™îû›y’%öì“þ ö²ÌyÝþ˜ ç £zöìœ„þÝþÆöì̃ îû ö›yÝþ ¢‚…Äy 184Ð þ™îû›y’%!Ýþîû ¦þîû¢‚…Äy 235 £öìœ ~öì“þ „þ!Ýþ
!˜vþzÝþÆ̃  xyöìŠé !˜’Åëû „þöìîûyÐ

5.3 ~„þ !œÝþyîû oîöì’ 18 g @Õ%öì„þy‹ Sxy’!î„þ ç‹˜ 180V xyöìŠéÐ oîöì’îû ö›yœyîû ›yey !˜’Åëû „þöìîûyÐ

5.4 œ‡% £y£zöìvÈþyöì„Ïþy!îû„þ xÄy!¢vþ ç œ‡% ¢yœ!šþvþz!îû„þ xÄy!¢vþ xyöìŠéÐ ~„þ!Ýþ îûy¢yëû!˜„þ þ™îû#Çþyëû ~£z ”%!Ýþ oîöì’îû þ™yíÅ„þÄ
!˜’Åëû „þîûöì“þ „þ# !î„þyîû„þ îÄî£yîû „þîûöìîÚ ¢‚!ÙÕTþ ö¦þï“þ þ™!îûî“Åþ˜!Ýþîû vþzöìÍÔ… „þöìîûyÐ

5.5 ‹öìœ ö¢y!vþëûy› ö„Ïþyîûy£zöìvþîû xyëû̃  oî#¦)þ“þ £çëûy xyîû ö²Ìy!Ýþ˜ x’%îû oî#¦)þ“þ £çëûyîû ›öì•Ä ²Ì•y˜ þ™yíÅ„þÄ „þ# “þy
îÄy…Äy „þöìîûyÐ

5.6 ö„þyöì̃ y îhß$þîû ¦þîû m ç †!“þŸ!=þ E £öìœ ²Ì›y’ „þöìîûy öë îhß$þ!Ýþîû ¦þîûöìî† £öìœy S2mEV1/2Ð

5.7 ¢y•yîû’ ößþñöìœîû ¢y£yöìëÄ ~„þ!Ýþ þ™y“þœy þ™y“þyîû †vþü öîöì•îû ›y˜ „þ#¦þyöìî !˜’Åëû „þîûy ëyëûÚ

5.8 xyœšþy „þ’yîû !îFŠ%éîûöì’îû þ™îû#Çþyîû šþœyšþœ öíöì„þ îûy”yîûöìšþyvÅþ þ™îû›y’%îû †àþ˜ ¢Áºöìr• „þ# „þ# !¢å•yöìhsþ vþzþ™˜#“þ £˜Ú

5.9 ~„þ !„þöìœy@ùÌy› ¦þöìîûîû ~„þ!Ýþ îhß$þ 1 m/s öîöì† •yî›y˜ £öìœ “þyîû †!“þŸ!=þ „þ“þ £öìî “þy !˜’Åëû „þöìîûyÐ

6. ˜#öì‰þîû ²ÌÙÀ!Ýþîû vþz_îû ”yç õ 3×4=12

6.1 ~„þ!Ýþ öÝþÆ̃  60 km/h o%!“þöì“þ ‰þœ!ŠéœÐ öîÊ„þ „þ¡ìyîû šþöìœ 1 m/s2 ›¨˜ ¢,!Tþ £öìœyÐ öÝþÆ̃ !Ýþîû íy›öì“þ „þ“þ ¢›ëû œy†öìî
!˜’Åëû „þöìîûyÐ

6.2 ~„þ!Ýþ ÷‹î öëïöì† ¦þîû x %̃þ™yöì“þ 0.031% šþ¢šþîûy¢ xyöìŠéÐ ë!” ú öëï†!Ýþîû ~„þ!Ýþ x’%öì“þ ~„þ!Ýþ£z šþ¢šþîûy¢
þ™îû›y’% íyöì„þ “þy£öìœ öëïöì†îû ö›yœyîû ¦þîû !˜’Åëû „þöìîûy Sö“þy›yöì„þ ö”çëûy xyöìŠé P=31VÐ öëï†!Ýþîû x’%îû xyëû“þ˜
¢Áºöìr• “%þ!› „þ# îœöì“þ þ™yöìîûyÚ

6.3 ~„þ!Ýþ £yÍñy ç ~„þ!Ýþ ¦þyîû# îhß$þîû ¦þîû ëíy„Êþöì› m ç MÐ îhß%þ”%!Ýþîû ¦þîûöìî† ¢›y˜ £öìœ ö„þy˜!Ýþîû †!“þŸ!=þ öî!Ÿ £öìî
“þy !˜’Åëû „þöìîûyÐ

6.4 ˜#öì‰þîû ²Ì!“þ!Ýþîû ~„þ!Ýþ „þöìîû vþz”y£îû’ ”yç õ

„þV x!¦þ„þ¡ìÅ îœ „þy‹ „þîûöìŠé–

…V x!¦þ„þ¡ìÅ îöìœîû !îîû%öìå• „þy‹ „þîûy £öìFŠé–

†V îhß$þîû ¢îû’ ‡Ýþöìœç x!¦þ„þ¡ìÅ îœ ö„þyöì̃ y „þy‹ „þîûöìŠé ˜yÐ



‹#î˜!îKþy˜
˜î› ö×!’

þ™)’Å›y˜ éôé 50

1. ²Ì!“þ!Ýþ ²ÌöìÙÀîû ¢!àþ„þ vþz_îû!Ýþ !˜îÅy‰þ˜ „þöìîû “þyîû „Êþ!›„þ ¢‚…Äy¢£ îy„þÄ!Ýþ ¢Á™)’Å „þöìîû öœöì…y õ 1 × 9 = 9

1.1 öë þ™öìîÅîû ²Ìy’#öì”îû ›öì•Ä ö„þyöìœyîÏyÞÝþ ö„þyŸ ö”…y ëyëû “þy Ÿ˜y=þ „þöìîûyéôôôé

S„þV !˜›yöìÝþyvþy

S…V !˜vþy!îûëûy

S†V !Ýþöì˜yöìšþyîûy

S‡V ö›yœyßþñy

1.2 ˜#öì‰þîû î=þîÄ†%!œ þ™öìvþüy ~î‚ ¢!àþ„þ î=þîÄ!Ýþ !‰þ!£«“þ „þöìîûyéôôôé

S„þV „þ˜!vÈþ„þä!í¢ ö×!’îû xhsþ†Å“þ ²Ìy’#öì”îû xhsþƒ„þA„þyœ x!Þí !”öìëû ÷“þ!îû

S…V öÝþ!îûöìvþyšþy£zÝþyîû ²Ì•y˜ vþz!q”öì”£!Ýþ !œA†•îû

S†V ö›yœyßþñy þ™öìîÅîû xhsþ†Å“þ ²Ìy’#öì”îû ö”£ …![þ“þ

S‡V îÄ=þî#‹#îû ²Ì•y˜ vþz!q”öì”£!Ýþ öîû’%•îû

1.3 öë ö‹yvþü!Ýþ ¢!àþ„þ ˜ëû ö¢!Ýþ !˜îÅy‰þ˜ „þöìîûy ôôôé

S„þV þ™Äyöìîû̃ „þy£z›y „þœy éôôôé ö„þyŸyhsþîû îûr•Ê vþzþ™!Þí“þ

S…V xyîîû’# „þœy éôôôé !¦þ!_þ™”Åy vþzþ™!Þí“þ

S†V ößþÏñöìîû̃ „þy£z›y „þœyéôôôé ‹#!î“þ ö„þyŸ vþzþ™!Þí“þ

S‡V ßþ¬yëû%„þœy éôôôé ßþ¬yëû%öì„þyŸ ~î‚ !˜vþzöìîûy!@Õëûy vþzþ™!Þí“þ

1.4 öë ö‹yvþü!Ýþ ¢!àþ„þ ˜ëû ö¢!Ýþ !˜îÅy‰þ˜ „þöìîûy éôôôé

S„þV öšþyöìÝþyšþ¢öìšþyîûy£zöìœŸ˜ éôôôé ATP ¢‚öìÙÕ¡ì

S…V @Õy£zöì„þyœy£z!¢¢ éôôôé þ™y£zîû%öì¦þÝþ ¢‚öìÙÕ¡ì

S†V ö„Êþî¢ ‰þ„Êþ éôôôé ¢y£z!ÝþÆ„þ xÄy!¢vþ ¢‚öìÙÕ¡ì

S‡V xîû!˜!í˜ ‰þ„Êþé éôôôé xÄyöì›y!˜ëûy ¢‚öìÙÕ¡ì

1.5 ¢!àþ„þ î=þîÄ!Ýþ !˜îû)þ™’ „þöìîûyéôôôé

S„þV öœy!£“þ îû=þ„þ!’„þy šþÄyöì†y¢y£zöìÝþy!¢¢ þ™å•!“þöì“þ öîûy†‹#îy’%% •¹‚öì¢ ¢y£yëÄ „þöìîû

S…V öîöì¢y!šþœ !£ÞÝþy!›˜ öŸy¡ì’ „þöìîû xÄyœy!‹Å ²Ì!“þöìîûyöì• ¢y£yëÄ „þöìîû

S†V !œöìÁ³þy¢y£zÝþ xÄy!rÝþî!vþ ¢‚öìÙÕ¡ì „þöìîû öîûy† ²Ì!“þöìîûyöì• ¢y£yëÄ „þöìîû

S‡V £zç!¢öì̃ y!šþœ ö£þ™y!îû̃  !˜ƒ¢îû’ „þöìîû îû=þîyöì£ îû=þ“þMþ˜ öîûyöì• ¢y£yëÄ „þöìîû



1.6 ²Ì‹yþ™!“þîû öîû‰þ˜ xA†!Ýþ !‰þ!£«“þ „þöìîûy éôôôé

S„þV ö˜!šÊþ!vþëûy  S…V ›Äyœ!þ™!‹ëûy˜ ˜y!œ„þy  S†V öšÏþ›öì„þyŸ  S‡V î,Eþ

1.7 îyÜ™öì›y‰þ˜ ¢‚e«yhsþ ¢!àþ„þ î_«îÄ!Ýþ !˜îû)þ™’ „þöìîûyéôôôé

S„þV îyëû%îû xyöìþ™!Çþ„þ xyoÅ“þy £Éy¢ öþ™öìœ îyÜ™öì›y‰þöì̃ îû £yîû £Éy¢ ™yëû

S…V îyëû%²Ìîy£ î,!å• öþ™öìœ îyÜ™öì›y‰þöì̃ îû £yîû î,!å• þ™yëû

S†V xyöìœyîû “þ#îÊ“þy î,!å• öþ™öìœ îyÜ™öì›y‰þöì̃ îû £yîû £Éy¢ þ™yëû

S‡V þ™!îûöìîöìŸîû “þyþ™›yey £Éy¢ öþ™öìœ îyÜ™öì›y‰þöì̃ îû £yîû î,!å• þ™yëû

1.8 ˜#öì‰þîû öë ö‹yvþü!Ýþ ¢!àþ„þ “þy !Þíîû „þöìîûyéôôôé

S„þV ¢yöìœy„þ¢‚öìÙÕöì¡ìîû xyöìœy„þéôé!˜¦Åþîû ”Ÿyééôô ö„Ïþyöìîûy²ÕyöìÞÝþîû öÞÝþÆy›y

S…V @Õy£zöì„þyœy£z!¢¢ éôô ö„þyöìŸîû ›y£zöìÝþy„þ!uÈþëûy

S†V îûöì¢îû vþzêöìßþËy“þ éôô ‹y£zöìœ› „þœy

S‡V ¢yöìœy„þ¢‚öìÙÕöì¡ìîû xyöìœy„þéôé!˜îûöìþ™Çþ ”Ÿyé ôô ö„Ïþyöìîûy²ÕyöìÞÝþîû @ùÌy˜y

1.9 ˜#öì‰þîû öë !îöìŸ¡ì ¢‚öìëy†# „þœyöì„þ ò!îû‹y¦Åþ öþ™¢öì›„þyîûó îœy £ëû ö¢!Ýþöì„þ Ÿ˜y=þ „þöìîûyéôôôé

S„þV SA ö˜yvþ

S…V þ™yîû!„þ˜!‹ “þhs$þ

S†V !£öì‹îû îy!uþœ

S‡V AV ö˜yvþ

2. ˜#öì‰þîû îy„þÄ†%öìœyîû Ÿ)̃ ÄÞíy˜†%öìœyöì“þ vþzþ™ë%=þ Ÿ· î¢yç õ 1 × 3 = 3

2.1 ¢)ëÅyöìœyöì„þîû é__________ „þ’y öŸy¡ì’ „þöìîû ö„Ïþyöìîûy!šþœ ¢!„Êþëû £ëûÐ

2.2 A @ùÌ%öìþ™îû îÄ!=þîû îûöì=þ __________ xÄy@Õ%!Ýþ!˜˜ íyöì„þÐ

2.3 öþ™¤öìþ™ †yöìŠéîû “þîû%Çþ#öìîû __________ ˜y›„þ vþzêöì¢‰þ„þ íyöì„þ ëy ö²Ìy!Ýþ˜ þ™!îûþ™yöì„þ ¢y£yëÄ „þöìîûÐ

3. ˜#öì‰þîû îy„þÄ†%öìœy ¢“þÄ xíîy !›íÄy !˜îû)þ™’ „þöìîûy õ 1 × 3 = 3

3.1 ˜y˜y ÷‹î x’% !›!×“þ ¢›%öìoîû †îû› ‹œöì„þ !îKþy˜# !¢vþ!˜ šþ: ò£Ýþ vþy£z!œvþzÝþ ¢%þ™ó ˜yöì› x!¦þ!£“þ „þöìîû̃ Ð

3.2 ö²Ìy!ÝþÞÝþy ‹y“þ#ëû ‹#îöì”îû ö„þyŸ ö²Ìy„þÄy!îûç!Ýþ„þ ²Ì„,þ!“þîûÐ

3.3 ˜y£zöìÝþÆyöì‹˜ë%=þ Çþyîû– öþ™öìrÝþy‹ Ÿ„Åþîûy ç šþ¢öìšþÝþ ›)œ„þ !˜öìëû !˜vþz!„ÏþçÝþy£zvþ †!àþ“þÐ

4. A- hßþöì½þ ö”çëûy Ÿöì·îû ¢öìA† Bôéhßþöì½þ ö”çëûy ¢îÅyöìþ™Çþy vþzþ™ë%=þ Ÿ·!Ýþîû ¢›“þy !î•y˜ „þöìîû vþz¦þëû hßþöì½þîû „Êþ!›„þ ˜‚
vþzöìÍÔ…¢£ ¢!àþ„þ ö‹yvþü!Ýþ þ™%̃ îûyëû öœöì…y õ 1 × 3 = 3

A éôéhßþ½þ B - hßþ½þ

4.1 xÄyöìíöìîûyöìßþÏñöìîûy!¢¢ SaV ÝþÆÄy!„þëûy

4.2 þ™“þA† SbV îûÇþ#öì„þyŸ

4.3 þ™eîûr•Ê ScV !îþ™y„þ#ëû ¢›¢Äy‹!˜“þ öîûy†

SdV š%þœ„þy



5. ~„þ!Ýþ Ÿöì· îy ~„þ!Ýþ îyöì„þÄ vþz_îû ”yç õ 1 × 3 = 3

5.1 ¦þy‹„þ „þœyîû ~„þ!Ýþ „þy‹ vþzöìÍÔ… „þöìîûyÐ

5.2 !î¢”,Ÿ Ÿ·!Ýþ öîöìŠé öœöì…y õ öþ™þ™!¢˜– œy£zöìþ™‹– !ÝþÆþ™!¢˜– £zöìîûþ™!¢˜

5.3 ˜#öì‰þ ¢Á™„Åþë%=þ ~„þ!Ýþ Ÿ· ö‹yvþü ö”çëûy xyöìŠéÐ ²Ìí› ö‹yvþü!Ýþîû ¢Á™„Åþ î%öìGþ !m“þ#ëû ö‹yvþü!Ýþîû Ÿ)̃ ÄÞíyöì̃  vþzþ™ë%=þ
Ÿ· î¢yç õ

˜y£zöìÝþÆyöì‹˜ë%=þ öîû‰þ˜ þ™”yíÅ õ „%þ£z̃ y£z̃  õõ ˜y£zöìÝþÆyöì‹˜!î£#˜ öîû‰þ˜ þ™”yíÅ õ _______
6. ”%£zéôé!“þ˜ îyöì„þÄ vþz_îû ”yç õ 2 × 7 = 14

6.1 òò~£z þ™öìîÅîû ²Ìy’#öì”îû ö”£ xy‚!Ýþîû ›öì“þy öŠéyöìÝþy öŠéyöìÝþy …[þ„þ !˜öìëû †!àþ“þóóéôôôé þ™îÅ!Ýþîû ˜y› ç ~„þ!Ýþ ÷î!ŸTþÄ
öœöì…yÐ

6.2 ~öìuþy²Õy‹›#ëû ‹y!œ„þyîû ”%!Ýþ „þy‹ vþzöìÍÔ… „þöìîûyÐ

6.3 vþz!qöì”îû öÇþöìe þ™îû‹#î#ëû ç !›öìíy‹#î#ëû þ™%!Tþîû ”%!Ýþ þ™yíÅ„þÄ vþzöìÍÔ… „þöìîûyÐ

6.4 ö¢ïîûŸ!=þîû xyîå•„þîû’ ç îû)þ™yhsþöìîû ¢yöìœy„þ¢‚öìÙÕöì¡ìîûþ ¦)þ!›„þy îÄy…Äy „þöìîûyÐ

6.5 ›%…!îîöìîû „þ#¦þyöìî Ÿ„Åþîûy‹y“þ#ëû …yöì”Äîû þ™!îûþ™y„þ £ëû “þy !îöìÙÕ¡ì’ „þöìîûyÐ

6.6 ö„þyŸ öíöì„þ ö„þyöìŸ þ™!îûî£öì’ îÄyþ™öì̃ îû ¦)þ!›„þy îÄy…Äy „þöìîûyÐ

6.7 ~„þy£zöì̃ yvþy›ÅyÝþy þ™öìîÅîû ”%!Ýþ Ÿ˜y=þ„þyîû# ÷î!ŸTþÄ vþzöìÍÔ… „þöìîûyÐ

7. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû öœöì…y õ 5 × 3 = 15

7.1 ›y˜îöì”öì£ ë„,þöì“þîû xîÞíy˜ ç ”%!Ýþ ¦)þ!›„þy vþzöìÍÔ… „þöìîûyÐ !˜Á¬!œ!…“þ ÷î!ŸöìTþÄîû !¦þ!_öì“þ ‹y£zöìœ› ç öšÏþyöìëûöì›îû
þ™yíÅ„þÄ !˜îû)þ™’ „þöìîûy õ 3 + 2 = 5

 vþzþ™y”y˜

 „þy‹

7.2 òòvþz!qöì”îû ö”öì£ ö„þyöì̃ y !˜!”ÅTþ öîû‰þ˜ xA† íyöì„þ ˜yóóéôôôé “þy£öìœ vþz!q” „þ#¦þyöìî öîû‰þ˜ þ™”yíÅ “þÄy† „þöìîû îöìœ ö“þy›yîû
›öì̃  £ëûÚ îû=þ“þMþ˜ „þ#¦þyöìî ‡öìÝþ îÄy…Äy „þöìîûyÐ 3 + 2 = 5

7.3 ›y˜îöì”öì£ ›)e ¢,!Tþöì“þ ö˜šÊþöì̃ îû ¦)þ!›„þy xyöìœy‰þ˜y „þöìîûyÐ ›y˜îöì”öì£ œ!¢„þyîû ”%!Ýþ ¦)þ!›„þy vþzöìÍÔ… „þöìîûyÐ
3 + 2 = 5



£z!“þ£y¢
˜î› ö×!’þ
þ™)’Å›y˜ éôé 50

1. ò„þó hßþöì½þîû ¢yöìí ò…ó hßþ½þ ö›œyç õ 1 × 4 = 4

„þéôéhßþ½þ …éôéhßþ½þ

1.1 £zëû‚ £z“þy!œ S„þV ¢¤y !¢öì›y

1.2 ö¢šþ!Ýþ œÄyÁ™ S…V ö‹yöì¢šþ ›Äyê!¢!˜

1.3 £zvþzöìÝþyþ™#ëû ¢›y‹“þsþf S†V !î¢›y„Åþ

1.4 îû=þ ç öœï£ ˜#!“þ S‡V £y›!šÊþ övþ!¦þ

2. ¢“þÄ îy !›íÄy !˜’Åëû „þöìîûy õ 1 × 4 = 4

2.1 šÊþyöìª !m“þ#ëû ²Ì‹y“þsþf ²Ì!“þ!Ûþ“þ £ëû 1848 !…ÊÞÝþyöì·Ð

2.2 !ŸÒ !î²Õöìîîû ¢›ëû £z‚œÄyuþ !îöìÙ»îû „þyîû…y˜y !£¢yöìî þ™!îû!‰þ!“þ þ™yëûÐ

2.3 !£Ýþœyöìîûîû ¦þy¡ìyëû £z“þy!œ !Šéœ éôôôé ò~„þ!Ýþ ö¦þïöì†y!œ„þ ¢‚Kþy ›yeóÐ

2.4 ~!vÈþëûyöì̃ yþ™öìœîû ¢!r• ßþºyÇþ!îû“þ £öìëû!Šéœ îûy!Ÿëûy ç “%þîûöìßþñîû ›öì•ÄÐ

3. ¢!àþ„þ vþz_îû!Ýþ !˜îÅy‰þ˜ „þöìîûy õ 1 × 4 = 4

3.1 šþîûy!¢ !î²Õöìîîû ¢›ëû šÊþyöìªîû îûy‹y !Šéöìœ˜ éôôôééôôôééôôôééôôôééôéôôôééôôôéôô  S‰þ“%þ”ÅŸ œ%£z/þ™Mþ”Ÿ œ%£z/ö¡ìyvþüŸ œ%£z/ö˜öìþ™y!œëû̃ VÐé

3.2 ò„¤þy!””ó ˜y›„þ @ùÌrí!Ýþ îû‰þ˜y „þöìîû!Šéöìœ˜ ôôôééôôôééôôôééôôôééôéôôôééôôôéôô Sîû%öìŸy/¦þœöì“þëûyîû/›öìhsþßþ%ñ/!”öì”öìîûyVÐ

3.3 šÊþyªöì„þ ò¼yhsþ xíÅ̃ #!“þîû ëy”%‡îûó îöìœ ›hsþîÄ „þöìîû!Šéöìœ˜ ôôôééôôôééôôôééôôôééôéôôôééôôôéôô Sö˜öìþ™y!œëû̃ /öîûyî¢!þ™öìëûîû/!›îûyöìîy/xÄyvþy›
!ßþ¿íVÐ

3.4 1861 !…Êƒ  ò›%!=þîû ö‡y¡ì’yþ™eó myîûy ¦)þ!›”y¢ ²Ìíy vþzöìFŠé” £öìëû!Šéœéôôôé Sîûy!Ÿëûyöì“þ/šÊþyöìª/²Ì!Ÿëûyöì“þ/x!ÞÝþÆëûyöì“þVÐ

4. ”%!Ýþ îy !“þ˜!Ýþ îyöì„þÄ ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 2 × 5 = 10

4.1 !„þyîûy ò£z̃ öìÝþ˜öìvþrÝþó ˜yöì› þ™!îû!‰þ“þ !Šéöìœ˜Ú

4.2 ò!œ!‹ëû̃  xî x˜yîûó „þ#Ú

4.3 òxvÅþyîû¢ £z̃  „þyvþz!ªœó „þ#Ú

4.4 !îû¢!‹Åöì›öìrÝþy „þ#Ú

4.5 òö‡öìÝþyó „þyöì„þ îœy £“þÚ

5. ¢y“þ îy xyÝþ!Ýþ îyöì„þÄ vþz_îû ”yç õ 4 × 5 = 20

5.1 „þyöì„þ ò›%!=þ”y“þy ‹yîûó îœy £ëû ~î‚ ö„þ˜Ú

5.2 Ýþ#„þy öœöì…y õ ö„þyvþ òö˜öìþ™y!œëû̃ ó

5.3 !£Ýþœyöìîûîû vþzayöì̃ îû þ™Øþyöì“þ ö„þy˜ „þyîû’†%!œ !ŠéœÚ

5.4 ò~›¢ öÝþ!œ@ùÌy›ó „þ#Ú

6. ¢y“þ îy xyÝþ!Ýþ îyöì„þÄ vþz_îû ”yç õ 8 × 1 = 8

‹y›Åy!˜îû ú„þÄ xyöì̈ yœöì̃  !î¢›yöì„Åþîû ¦)þ!›„þyîû vþzöìÍÔ… „þöìîûyÐ



¦)þöì†yœ
˜î› ö×!’
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1. !î„þÒ†%!œ öíöì„þ !àþ„þ vþz_îû!Ýþ !˜îÅy‰þ˜ „þöìîû öœöì…y õ 1 × 9 = 9

1.1 ö¢ïîû‹†öì“þîû î!£ƒÞí @ùÌ£†%!œîû öë ÷î!ŸTþÄ!Ýþ íyöì„þ˜y ö¢!Ýþ £öìœyéôôôé

„þV ~îûy xy„þyöìîû îvþü

…V ~öì”îû !˜!”ÅTþ „þÇþþ™í xyöìŠé

†V ~îûy „þ!àþ˜ !Ÿœyëû †!àþ“þ

‡V ~îûy ¢)ëÅ öíöì„þ xöì̃ „þ ”)öìîû xî!Þí“þ

1.2 ¢)öìëÅîû vþz_îûyëûöì̃ îû öŸ¡ì ¢#›y £öìœyéôôôé

„þV ›„þîû„Êþy!hsþ öîû…y

…V „þ„ÅþÝþ„Êþy!hsþ öîû…y

…V „%þöì›îû%î,_ öîû…y

‡V ¢%öì›îû%î,_ öîû…y

1.3 ›y˜!î„þ ¢Á™öì”îû ~„þ!Ýþ vþz”y£îû’ £öìœy éôôôé

„þV ¢)ëÅyöìœy„þ

…V ²Ìy„,þ!“þ„þ †Äy¢

†V ”Çþ“þy

‡V ¦)þ“þyþ™ Ÿ!=þ

1.4 !î¡ì%îöìîû…yëû •Êî“þyîûyîû vþz§¬!“þ ö„þy’ £öìœyéôôôé

„þV 0º

…V 90º

†V 60º

‡V 45º

1.5 ¦)þéôéxyöìœyvþü̃  ¦)þþ™,öìÛþ x %̃¦)þ!›„þ¦þyöìî „þy‹ „þîûöìœ ¢,!Tþ £ëûéôôôé

„þV hß(þþ™ þ™îÅ“þ

…V ¦þ!A†œ þ™îÅ“þ

†V @ùÌhßþ vþzþ™“þÄ„þy

‡V ›£yöì”Ÿ



1.6 !àþ„þ ö‹yvþüy!Ýþ !˜îyÅ‰þ˜ „þöìîûy ôôôé

„þV !“þhßþy ˜”#ééôôôééö‹yëûyöìîûîû ‹öìœ þ™%Tþ

…V ”y!‹Å!œ‚ ö‹œy éôôôé ÷”!˜„þ vþz¡ìŒ“þyîû ²Ì¢îû öî!Ÿ

†V ›yœ¦)þ!›îû œÄyöìÝþîûy£zÝþ ›,!_„þy ééôôôéé ‹œ•yîû’ Çþ›“þy „þ›

‡V þ™y£z̃  ééôôôé ›Äy˜öì@ùÌy¦þ vþz!q”

1.7 xÇþöìîû…yîû x˜Ä“þ› ²Ì•y˜ ÷î!ŸTþÄ £öìœyéôôôé

„þV ¢öìîÅyF‰þ xÇþöìîû…yîû ›y˜ 00

…V ²Ì!“þ!Ýþ xÇþöìîû…y ›£yî,_

†V xÇþöìîû…y†%!œ þ™îûßþ™öìîûîû ¢›yhsþîûyœ

‡V ²Ì!“þ!Ýþ xÇþöìîû…yîû þ™!îû!• ¢›y˜

1.8 !î”yîû x@À%Äå†öì›îû ›y•Äöì› ¢,Tþ ¦)þ!›îû)þ™ £öìœyéôôôé

„þV hß(þþ™ þ™îÅ“þ

…V œy¦þy ›yœ¦)þ!›

†V þ™îÅ“þöìî!Tþ“þ ›yœ¦)þ!›

‡V xyöì@Àëû!†!îû

1.9 !àþ„þ ö‹yvþüy!Ýþ !˜îÅy‰þ˜ „þöìîûyéôôôé

„þV ”yöì›y”îû ˜”# ééôé þ™!Øþ›îöìA†îû vþz_öìîûîû þ™yîÅ“þÄ xMþœ

…V „þy!œÁ™‚ ö‹œy éôé ¢›%o öíöì„þ ”)îûî“þÅ# Þíy˜

†V þ™vþ‹œ ›,!_„þy éôé þ™!Øþ›îöìA†îû þ™!Øþöì›îû ›yœ¦)þ!› xMþœ

‡V xÄyœþ™y£z̃  vþz!q” éôé ¢%̈ îûî˜ xMþœ

2. Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ 1 × 3 = 3

2.1 oy!‡›yöìîû…y†%!œ !˜îûÇþöìîû…yöì„þ ____________ ö„þyöì’ öŠé” „þöìîûöìŠéÐ

2.2 xyî£!î„þyîû@ùÌhßþ !Ÿœy ‰)þ’Å!î‰)þ’Å £öìëû ›)œ !Ÿœyîû vþzþ™îû öë !Ÿ!íœ xyîîû’ ÷“þ!îû „þöìîû “þyöì„þ ____________ îöìœÐ

2.3 ”y!‹Å!œ‚ ö‹œyîû ›•Ä !”öìëû ²Ìîy!£“þ ~„þ!Ýþ !˜“þÄî£ ˜”# £öìœy ____________Ð

3. îy„þÄ!Ýþ ¢“þÄ £öìœ ò!àþ„þó ~î‚ x¢“þÄ £öìœ ò¦%þœó öœöì…y õ 1 × 3 = 3

3.1 !˜îûÇþöìîû…yëû x!¦þ„þöì¡ìÅîû ›y˜ ¢îÅy!•„þÐ

3.2 ö„þy!îûç!œ¢ îöìœîû ²Ì¦þyöìî vþz_îû ö†yœyöì•Å xyëû̃  îyëû% îy›!”öì„þ öî¤öì„þ ²Ìîy!£“þ £ëûÐ

3.3 x!‰þîûy‰þ!îû“þ Ÿ!=þîû ~„þ!Ýþ vþzê¢ ö‹yëûyîû¦þyÝþy Ÿ!=þÐ

4. ~„þ!Ýþ îy ”%!Ýþ Ÿöì· vþz_îû ”yç õ 1 × 3 = 3

4.1 ö„þyöì̃ y Þíyöì̃ îû oy!‡›y 24º þ™)ƒ £öìœ ú Þíy˜!Ýþîû ²Ì!“þþ™y”Þíyöì̃ îû oy!‡›y „þ“þ £öìîÚ

4.2 ~„þ!Ýþ þ™îÅ“þöìî!Tþ“þ ›yœ¦)þ!›îû ˜y› öœöì…yÐ

4.3 ö„þy˜ ‹œîyëû% xMþöìœ îûy¢yëû!˜„þ xyî£!î„þyöìîûîûû ²Ìy•y˜Ä œÇþ „þîûy ëyëûÚ



5. ¢‚!Çþ® vþz_îû ”yç õ 2 × 4 = 8

5.1 ö„þyöì̃ y ~„þ!Ýþ !˜îûöìþ™Çþ ¢y›@ùÌ#îû ¢Á™” £öìëû çàþyîû Ÿ“Åþ†%!œ vþzöìÍÔ… „þöìîûyÐ

5.2 GPS éô é~îû ”%!Ýþ îÄî£yîû vþzöìÍÔ… „þöìîûyÐ

5.3 ˜”# ç …yöìœîû ‹öìœîû x!“þ!îû=þ îÄî£yöìîûîû Çþ!“þ„þîû ²Ì¦þyî†%!œ „þ# „þ#Ú

5.4 xyî£!î„þyöìîû ²Ìy’#öì”îû ¦)þ!›„þy vþz”y£îû’¢£ xyöìœy‰þ˜y „þöìîûyÐ

6. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 3 × 3 = 9

6.1 xy›îûy þ™,!íî#îû xyî“Åþ˜ öî† x %̃¦þî „þ!îû̃ y ö„þ˜Ú

6.2 òþ™,!íî#îû öî!Ÿîû¦þy† ›y %̃¡ì ¢›¦)þ!› xMþöìœ î¢îy¢ „þöìîû̃ ó éôôôé ö¦þïöì†y!œ„þ „þyîû’ îÄy…Äy „þöìîûyÐ

6.3 xyöì@Àëû þ™îÅ“þ ç Çþëû‹y“þ þ™îÅöì“þîû ›öì•Ä þ™yíÅ„þÄ öœöì…yÐ

7. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 5 × 3 = 15

7.1 !‰þe¢£ !˜Á¬!œ!…“þ !î¡ìëû†%!œîû !¦þ!_öì“þ þ™,!íî#îû ö†yœ#ëû xy„,þ!“þîû ²Ì›y’ ”yçéôôôé

S„þV !”†hsþöìîû…y

S…V •Ê%î“þyîûy

7.2 òvþzF‰þ þ™yîÅ“þÄ xMþöìœ “%þ¡ìyöìîûîû „þyöìëÅîû šþöìœ !Ÿœy xyî£!î„þyîû@ùÌhßþ £ëûó éôôôé !‰þe¢£ îÄy…Äy „þöìîûyÐ x!:öìvþŸ˜ îy ‹yîû’
²Ì!„Êþëûyëû !Ÿœy „þ#¦þyöìî !îöìëûy!‹“þ £ëû vþz”y£îû’¢£ öœöì…yÐ

7.3 þ™!Øþ›îöìA†îû ‹œîyëû% „þ#¦þyöìî ö›ï¢%›# îyëû% myîûy ²Ì¦þy!î“þ £ëûÚ
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